< Chapter 4 Homework to show for completion marks (5/5)
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1. Convert each of the following to degrees:
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2. Covert each of the following to radians (leave in exact form):
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3. For each of the following angles, graph in standard position, find two coterminal angles
and determine the reference angle:
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4. Determine the arc length subtended by the angle, 85", of a circle of radius 11cm.
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5. If a swing that is 4 meters long produces an arc of 9 meters, determine the angle L
degrees) that is produced by each swing. N
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a. Determine the coordinates of all the points in the unit circle if the x-coordinate is
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b. Determine the coordlnates of all the points in the unit circle if the y-coordinate is
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7. Determine the exact point of the following angles in a unit circle
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8. Determine the angle in radians and degrees for the following points in a unit circle
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9. Give all 6 trigonometric ratios for the following angles: cos6.sin 0, tan 8,sec @, csc O, cotd
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10. Determine all angles, @, for each of the following and draw a diagram for each

0<@<27 and 0<@ <360

a. cosfl=—

(+) wQT +QIT

0}’%. 145‘ w(c

[y
o

/'
4

b. sinf = -1

rowt le
whare \3 =a-’;9

S?r d R
2
”
i3
(-ZI’; (O,“) ’_J
v/
cge'l' - Sew:=7 cose =0 Sln%‘gcw
8 o swo-= CSC&:—\T:"
o= = swb = = ~
S Z:r Ny 1-0.0\6: 5 Cdfe"%:o
2
‘\'W\Q’}}’ Zx§ ool i
P
z
=5
c. tané?:\/i d. secf=-2 l
@ w QL+ $ cosb=-2

(., "35——7 tonb = }

(") \V\ 0\1 X Q’E

ar

B
\ (@ ]

ch4 Page 4




11. Given the point (5,—4) on the terminal arm of a circle, determine the 6 trigonometric

ratios for angle 6.
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